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Absolute Value Function

The absolute value of a function considers
only the magnitude of the number and not the
sign. It is the distance away from 0.

Example: |3 =3 and |-3|=3

Properties of absolute value:

1.]lal]= 0 ex.|-8/ 20 since |-8|=8
2. |m|=|-m| ex. |10| = |-10] = 10

3.]ax b|=[a|x|b| ex. 'L\X_Q ﬂ_g[:g
Mx[d=HdL=g

T
4"—3‘=I§bl ex. | 2 | = "5] :5

.5.]a+Db|<|a|+|b| ex.'1o+ ('S)l
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Absolute Value Equations
The number of solutions to the equation |x| =k
depends on the sign of k.

If k > 0, the equation has 2 solutions.

Xx=-korx=k

Ex. [x| =4 S={44)}

If k = 0, the equation has l Sbi\fd'lbh
x=0

Ex. x| =0 S ={0}

If k < 0, the equation has p) SOluHo}qg

Ex. [x]=-5 S=/@/
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Solve, if possible:

a)|3x - 5/=12 b) 3|x-5| =12
x-512 | 3xS -1 E j

c) -2|x+7|=8 d) \3)\(; 8\-\2 =11
_ X{gl=|
\X{H: ) SX\%\:-\“S 33){%%1’)
X < ¥ sx-—as\ Ixt¥ =13
> L0 xS
R 303
X : %— X = 3/3
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o "l lied, I was actually more than 6 stops away"

o "But no worries, now I'm less than three stops
from McGill"
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Absolute Value Inequalities

Solve:
I{(ITG _61 O 0
X|=
X € —(oléfll -
X =K Xé_‘g‘f)O) G}U
Xx<-k or x=k 6 ,/.00
S = J-o,k] U [k, +[ Z ’ [
IX| £6 | | \'
Ix|=6 6 9 6
X<i-6,67 _
IXI< k X < L é‘ (D]

x2-k and x <k

S = [k K]
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Solve, if possible:
e)-4x+3+1<0 f)|2x-3|< -7

=4 [x#3|4+1 =0 c
— "l(x+sl'—/ X /d

/X+3[ L?
X+2 = CI *Z—Ql
X=-t ’i-—‘q
vE - -00," 210k 5 ool
g) |2x-3|2
(2y-2|2 D

e (R
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